[ number of missing inner layers |

[ number of missing outer layers |

1e Entries 611543 1e Entries 611543
E Mean 0 E Mean 0
r Std Dev 0 r Std Dev 0
e T T e T T T
107 Entries 608820 107 Entries 608820
E Mean E Mean
N Sld Dev 0 N Sld Dev 0
-2 it -2 eteeiiteiiiie..]
10 E Entrles 608820 10 E Enmes 608820
F Mean F Mean
3 r Std Dev 0 3 r Std Dev 0
10°F 10°F
o Entries 608820 o Entries 608820
r Mean 0 r Mean 0
_4 Std Dev 0 _4 Std Dev 0
10 E R | 10 E R |
E Entries 608820 E Entries 608820
N Mean 0 N Mean 0
10—5 - Std Dev 0 10—5 - Std Dev 0
o1 e\ FHL OV TOPOT FUUUL TUVIE FOVON VL TOV NV OO0 Dw_.... R PURRN PN FEUTL TP TR YO OV O
5 | :
@ [ .
r— {
0.95 095
0 O. 5 l 1. 5 2 2. 5 3 3. 5 4 4. 5 5 0 05 115 2 25 3 35 4 45 5
—— DQOMSEPS_ 11
—p— D MsteaB‘TT‘
|j — B Mg%g %‘TT‘ck P|>]eILess
mean hif —— BRVSIERH-g¢latlikewToLpsampLE
— 40 10°g Entries 611543
" C E Mean 14.7
> o E Std Dev 6.733
A 35 L g :
2 = 10%E 608820
c 30E E 13.79
v - F 5.872
25F 3L 608820
o 10 E 13.79
o E 5.872
20 C ! ;
L 21 Entrie| 608820
C 10 E Mean 13.79
15 E Std De 5.872
E I Entries 508820
10 10 3 Mean 13.79
E & E Std Dev 5.872
Sp s :
r N N N N . 15_
o O;....I....I....I....I....I.... o Lof
= S I = E
@ @ - e e U, . PO
: 03] S R SR e S
: Eo : : 0 &
0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
Entries 218232 - Entries 643309
Mean 2.089 N Mean 1.244
Std Dev 6.148 4 Std Dev 4.033
: I 10y T T i
= Entries 218232 Entries 636870
{103 TR BT Mean 2.089 Mean 1.25
E Std Dev 6.148 1072 Std Dev 3.386
£ T I 0 : T
- Entries 218232 Entries 636870
3 ean 2.089 Mean 1.25
10 E Dev 6.148 . | Std Dev 3.386
E ey H |
: Entrid 218232 ntries 636870
_4 Mean 2.089 e an 1.25
107°F Std D 6.148 stpev 3.386
= N I L I
B Entries 218232 Entries 636870
[ Mean 2.089 Mean 1.25
107°F Std Dev 6.148 Std Dev 3.386
o 10%8} . T
S .
g il
'lllluuuullll“llil |
;ITTTTTTTTTTTTTTTTTT'H | | | | ‘
0.95— . : - s
10 1 10 10 10
TP p




	Contents
	Page 1


